RESOLUTION NO. 41-07-18

A RESOLUTION OF THE TOWN COMMISSION OF THE TOWN OF LAKE PARK, FLORIDA, AUTHORIZING AND DIRECTING THE MAYOR TO EXECUTE A CHANGE ORDER WITH THE HINTERLAND GROUP, INC. TO PROVIDE EMERGENCY CURE-IN-PLACE PIPE LINING PER THE TERMS OF ITS PREVIOUSLY EXECUTED AGREEMENT WITH THE TOWN; AND PROVIDING FOR AN EFFECTIVE DATE.

WHEREAS, the Town of Lake Park, Florida ("Town") is a municipal corporation of the State of Florida with such power and authority as has been conferred upon it by the Florida Constitution and Chapter 166, Florida Statutes; and

WHEREAS, the Town is empowered to enter into contractual arrangements with public agencies, private corporations or other persons; and

WHEREAS, the Town is responsible for the repair and maintenance of its stormwater infrastructure system and requires a contractor to provide such services; and

WHEREAS, on December 20, 2017, the Town executed a "piggy back" contract with Hinterland Group, Inc. ("Contractor") per the terms and conditions of City of Palm Beach Gardens contract number ITB2016-O59PS to provide stormwater infrastructure maintenance and repairs; and

WHEREAS, in late June of 2018, the Public Works Department become aware of a worsening sinkhole caused by a damaged stormwater pipe, representing a threat to the health, safety, and welfare of the public; and

WHEREAS, such a threat constitutes an emergency and requires immediate repair; and

WHEREAS, pursuant to the terms and conditions of the Town's contract with the Contractor, the Contractor and Town have agreed to a change order whereby the Contractor agrees to provide an emergency repair to eliminate the threat of the sinkhole; and

WHEREAS, the cost of the change order is \$107,360.00; and

WHEREAS, Town Manager has recommended to the Town Commission that it is in the best interest of the Town to execute the change order for pipe-lining from the Contractor.

NOW THEREFORE, BE IT RESOLVED BY THE TOWN COMMISSION OF THE TOWN OF LAKE PARK, FLORIDA, AS FOLLOWS:

Section 1. The foregoing recitals are incorporated herein by reference.

Section 2. The Mayor is hereby authorized and directed to execute the proposal, representing a change order to the contract with the Contractor for additional services associated with the emergency repair of the Town's Stormwater infrastructure. A copy of the proposal is attached hereto and incorporated herein as Exhibit A.

Section 3. This Resolution shall take effect upon execution.

The foregoing Resolution was offered by	missioner M.	ichand			
who moved its adoption. The motion was seconded by Commissioned Lynch					
and upon being put to a roll call vote, the vote was	as follows:	/			
MANOR MICHAEL OPOLIBLE	AYE	NAY			
MAYOR MICHAEL O'ROURKE					
VICE-MAYOR KIMBERLY GLAS-CASTRO					
COMMISSIONER ERIN FLAHERTY					
COMMISSIONER ANNE LYNCH					
COMMISSIONER ROGER MICHAUD					
The Town Commission thereupon declared the foregoing Resolution NO. 41-07-18					
duly passed and adopted this 18 day of	Luly, 2018.				
	0				
	TOWN OF LAKE PARK,	, FLORIDA			
		MICHAEL O'ROURKE MAYOR			
ATTEST:	WATOK				
VIVIAN MENDEZ TOWN CLEAK					
(EOWN SEAL)	oved as to form and legal su	fficiency:			
(EOWNSEAL)S					
30, 30	BY:				
7.	THOMAS L'BAH				
	TOWN ATTORN	ÉY			



Date Prepared:

7/9/2018

Cost Estimate / Proposal:

Town of Lake Park

535 Park Avenue, Lake Park, FL 33403

Lake Park, FL 33403 561-881-3345

Internal Job Number:

TBD

Customer Job Location: Job Name:

241 Cypress Dr, Lake Park, FL 33403

Contract:

Town of Lake Park 60" Storm Pipe Repair

Line Item Description	Item No	QTY	Unit Price	Total
Storm Drain (Video Camera) Observation 49"-72" Log/Written Report	2	200	6	\$1,200.00
48" to 60" Cross/Side Drain or Equivalent Elliptical Circumference	7	1	3000	\$3,000.00
6" Hydraulic Pump (with up to 1000' of discharge hose	10	8	65	\$520.00
CIPP 60" Pipe 30.3mm (Burial Depth is 0-6')	38	200	500	\$100,000.00
Cleaning and Sediment Removal 60" Pipe	52	200	0.2	\$40.00
Crane 100 ton and below	102	8	200	\$1,600.00
Maintenance of Traffic	125	1	1000	\$1,000.00

Total

\$107,360-00

Prepared By:

Brett Konchak

Hinterland Group Inc

2051 W Blue Heron Blvd

Accepted By:

Print, Sign and Date:

West Palm Beach, FL 33404

Mayos, Michael O'Rowke July 19, 2018